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Question Number : 151 Question Id : 48558434606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The view that gives mnside details of an object 15

L. top view

[ ]

. front view
3. detailed view

4, sectional view

Options :

485584138421. 1
485584138422. 2
485584138423.3
485584138424. 4
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|Comprehension IMCQ

In Perspective projection. object appears to converge at a point, called

1. enlarged point

[ O]

. vanishing point
3. dimensional point

4. horizontal plane

Options :

485584138425. 1
485584138426. 2
485584138427. 3
485584138428. 4
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A solid having two bases and rectangular faces 1s
1. Pyramid
2. Sphere
3. Prism
4, Cylinder

Options :
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The 1sometric projection of an object s view projection.
1. double
2. single
3. multiple
4. triple

Options :
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The 1sometric scale 15 uged to obtain the of the edges of any object to draw its 1sometric
projection.

1. foreshortened length
2. enlarged length
3. true length

4. double length

Options :

485584138437. 1
485584138438. 2
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Choose the correct option as per the given figure:

e

\

&)
ISOMETRIC PROJECTION -~
F

1. A hexagonal prism is resting on H.P. on its base.
2. A pentagonal prism is resting on FLP. on its base.
3. A pentagonal pyramid 1s resting on H.P. on its apex.

4. A pentagonal pyranud 1s resting on H.P. on 1ts base.

Options :

485584138441. 1
485584138442. 2
485584138443. 3
485584138444. 4
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Choose the correct option as per the given figure:

o

ISOMETRIC PROJECTION

1. One of its base edges 1s perpendicular to V.P.

[ ]

. One of its base edges 1s parallel to V.P. and away from the observer.
3. One of its base edges 1s parallel to V.P. and nearer to the observer.

4. One of its base edges 13 perpendicular to H.P.

Options :

485584138445. 1
485584138446. 2
485584138447. 3
485584138448. 4
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Choose the correct option as per the given figure:

1. A hemisphere 1s resting on a hexagonal pyramid.

[ B

3. A sphere ig resting on a pentagonal pyramid.

4. A sphere is resting on a hexagonal prism.

Options :

485584138449. 1
485584138450. 2
485584138451. 3
485584138452. 4

. A hemisphere 1s resting on a hexagonal prism.
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How many rectangular faces are there in the given figure:

2

3. 11

.10

4.12

Options :

485584138453. 1
485584138454. 2
485584138455.3
485584138456. 4
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Choose the eorrect option as per the given figure:
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ISOMETRIC PROJECTION

1. Axial height of isometric projection of combiation of solids is 88 mm.

[ B

. Axial height of isometric projection of combination of solids is 110 mm.

3. Axial height of isometric projection of combination of solids is 60 mm.

4. Axial height of isometric projection of combination of solids s 50 mm.

Options :

485584138457. 1
485584138458.2
485584138459. 3
485584138460. 4
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In a Screw thread, theoretical depth (D) of the thread will be equal to

1. (Major Diameter }— (Minor Diameter )

b

{( Major Diameter |—( Minor Diameier‘_]}

L R {[_MajorDiameta’}— (MinUrDiameta"]}

2

4. (Major Diameter | + {Minor Diameter)
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If pitch 1s 'P' in B.S.W. thread. then the value of 'd' (d= Actual Depth) will be
1. 0.96P
2. 0.64P
3.0.51P

4. 0.86P

Options :

485584138465. 1
485584138466. 2
485584138467. 3
485584138468. 4
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Question Number : 162 Question Id : 48558434617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Options :
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Question Key Details :
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Thread profile on an electric bulb:

1. Metric internal thread

[ ]

. Square thread
3.B.S.W. thread

4, Knuckle thread

Options :

485584138469. 1
485584138470. 2
485584138471.3
485584138472. 4
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The total length of a bolt does not include its

1. shank length

[ O]

. threaded length
3. head thickness / head height

4. non-threaded length

Options :

485584138473. 1
485584138474.2
485584138475.3
485584138476. 4
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Options :
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18 the diameter of the chamfered circle of a square nut used for bolt of size M30.

1. 40 mm

b

. 60 mm
3. 30 mm

4. 45 mm

Options :

485584138477. 1
485584138478.2
485584138479. 3
485584138480. 4
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The value of outer diameter of a plain washer for a bolt of nominal diameter 24 mm 18
1.25 mm
2.3 mm
3.51 mm

4, 24 mm

Options :

485584138481. 1
485584138482.2
485584138483. 3
485584138484. 4
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In conventional representation of V-thread. the side view shows a complete thick circle representing the

1. Crest

| ]

. Root

.Lead

L¥S]

4. Pitch

Options :
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Length of metal end for a Square neck stud of diameter 'd=30 mm' can be
1. 15 mm
2. 25 mm
3.45mm

4, 60 mm

Options :
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The thickness of collar 1n a Collar stud of diameter 30 mm 15 :

1. 30 mm

[ ]

.45 mm
3. 12 mm

4, 20 mm

Options :
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485584138494. 2
485584138495.3
485584138496. 4
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Rivets are not usad in

1. a pressure cooker

[ ]

. belts
3. a frving pan

4. a wooden stool

Options :
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In the top view of a vertical Pan Head Rivet of diameter 20mm. 13 the diameter of the outer circle.

1. 20 mm
2.32 mm
3. 40 mm

4,25 mm

Options :
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Key Value
Comprehension MCQ

collegedunia:
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1. 20 fa L
2. 32 o
3. 40 AL
4. 25 fa L

Options :

485584138501. 1
485584138502. 2
485584138503. 3
485584138504. 4

fm_l,b

Question Number : 172 Question Id : 48558434627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

This assembly has an oil hole:

1. Sleeve and cotter joint assembly

[ ]

. Turnbuckle joint assembly
3. Bush bearing assembly

4. Open bearing assembly

Options :

485584138505. 1
485584138506. 2
485584138507. 3
485584138508. 4

Question Number : 172 Question Id : 48558434627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

collegedunia:



59 SR 8 T 0 [ gl
1. WG SR Pl WIS !

. THgaad S Sl

g9 faaia e

4. 310 fegfoT st

Options :

485584138505. 1
485584138506. 2
485584138507. 3
485584138508. 4

I

&S]

Question Number : 173 Question Id : 48558434628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Open Bearing 1s used for

1. vertical shafts

[ ]

. shafts rotating at high speed
3. shafts rotating at medium speed
4. zigzag shafts

Options :

4855841385009. 1
485584138510.2
485584138511. 3
485584138512. 4

Question Number : 173 Question Id : 48558434628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:



3 fagi & foTe SuanT foar o &
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Options :

485584138509. 1
485584138510. 2
485584138511. 3
485584138512. 4

Question Number : 174 Question Id : 48558434629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

This bearing / joint is useful for higher loads at medium speed:

1. Bush Bearing

[ ]

. Open Bearing
3. Gib and Cotter joint

4. Sleeve and Cotter joint

Options :

485584138513. 1
485584138514.2
485584138515. 3
485584138516. 4

Question Number : 174 Question Id : 48558434629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:
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Options :

485584138513. 1
485584138514.2
485584138515. 3
485584138516. 4

Question Number : 175 Question Id : 48558434630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
In a Sleeve and Cotter joint, each rod has rectangular hole(s) for the insertion of cotter at right

angle to the axis.
1. One
2. Two
3. Three
4. Five

Options :

485584138517. 1
485584138518.2
485584138519. 3
485584138520. 4

Question Number : 175 Question Id : 48558434630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:
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Options :
485584138517. 1
485584138518. 2
485584138519. 3
485584138520. 4

Question Number : 176 Question Id : 48558434631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A machine part which prevents slacking of the joint besides holding the jaws of the strap from opening wide
when the cotter is mserted;

1. Cotter
2. Rod
3. Gib
4. Sleeve

Options :

485584138521. 1
485584138522. 2
485584138523.3
485584138524. 4

Question Number : 176 Question Id : 48558434631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:
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Options :

485584138521. 1
485584138522.2
485584138523. 3
485584138524. 4

&5

Question Number : 177 Question Id : 48558434632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

In Flange Pipe Joint, if it 13 mentioned SQ Headed Bolt MS—4 OFF. What 1s the meanmg of 4 OFF ?

1. Four number of bolt.

[

. Four types of bolt.
3. Four mm length of bolt.

4, Four mm thickness of bolt.

Options :

485584138525. 1
485584138526. 2
485584138527. 3
485584138528. 4

Question Number : 177 Question Id : 48558434632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




Tl 9189 oIl |, 3R SQ £8 8 §iee MS—4 OFF 3f&hd 81 a1 4 OFF &1 Addd &4l 82
1. Siee 1 ST IR B
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Options :

485584138525. 1
485584138526. 2
485584138527. 3
485584138528. 4

I

&S]

Question Number : 178 Question Id : 48558434633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
In Turnbuckle joint. the two rods have serew threads.

1. Opposite hand external
2. Opposite hand internal
3. Both external RH

4, Both internal LH

Options :

485584138529. 1
485584138530. 2
485584138531.3
485584138532. 4

Question Number : 178 Question Id : 48558434633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

collegedunia:



cHeamd wie 4 &l ol & Uy - g gl

1. [auiid sy &1 gr|l
. faudia g1y @i 3ia:

I

Sl 918 RH

&S]

4. SF1 3d: LH

Options :

485584138529. 1
485584138530. 2
485584138531. 3
485584138532. 4

Question Number : 179 Question Id : 48558434634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:



Identify the corvect statements for the given figure:

A. Axes of both solids are perpendicular to H.P.
B. Axis of cylmder is perpendicular to V.P. and axis of hemisphere is perpendicular to H.P.
C. A vertical cylinder is resting on the civcular face of a hemisphere.

D. A hemisphere is resting on a cylinder.

E. A hornizontal cylinder is resting on a hemisphere.

Choose the correct answer from the options given below:

1. B and E only

| ]

. A and D only
3.D and E only

4. A and C only

Options :

485584138533. 1
485584138534.2
485584138535. 3
485584138536. 4

Question Number : 179 Question Id : 48558434634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:
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Options :

485584138533. 1
485584138534.2
485584138535. 3
485584138536. 4

Question Number : 180 Question Id : 48558434635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



Identify the corvect statements for the given figure:

ISOMETRIC PROJECTION,

A. A pentagonal prism is resting on H.P. on its base.
B. Axis of pyramid is perpendicular to V.P.

C. Axis of pyramid is perpendicular to H.P.

D. A pentagonal pyramud is resting on H.P. on its apex.
E. Length of its axis is 35 mm.

Choose the correct answer from the options given below:

1. A and B only

]

. C and D only
3. B and E only

4. A and C only

Options :

485584138537. 1
485584138538. 2
485584138539. 3
485584138540. 4

Question Number : 180 Question Id : 48558434635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

collegedunia:
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ISOMETRIC PROJECTION,

A. TF TaYTHR e Tad. I o0 YR W @ 3l
B. ffis &1 g St & daad g1

C. fofirs =1 g wa . & taad 2

D. & YayoieR s il « 5u% ol W @ 2l
E. 595 & % vaE 35 A 21

2 Ry Ao 7 4 a@ s
1. %90 A IR B
2. %80 C IRD
3. %@ B AR E
4. FFE A AR C

Options :

485584138537. 1
485584138538.2
485584138539. 3
485584138540. 4

Question Number : 181 Question Id : 48558434636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



Identify the correct statements for Isometric Projection of a Sphere:

A, Tts diameter is foreshortened.

B. Its isometric projection appears as circle.
C. Its 1sometric projection is drawn by taking an angle of 60 with the horizontal reference line.
D. Its diameter is drawn using true scale.

E. Its 1sometric projection appears as hemisphere.

Choose the correct answer from the options given below:

1. B and D only
2.Band C only
3. Aand D only

4. A and E only

Options :

485584138541. 1
485584138542.2
485584138543. 3
485584138544. 4

Question Number : 181 Question Id : 48558434636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

U TTd & GHIRHTI U9 & 0 T8l Ui & I &

A, oHPT AIH Y U

B. SHT GHYRHATU YU g & SIF1 Wil gial |

C. SUHT JHYRHT 0T fas FHEe a1 I 60° & BI07 SH: a1 T 2
D. SH® T adid® UHH BT 39T H & &1 711 &

E. S9%T GHURAT 94T 3{7d &1 die Udid eraT |

9 fau faeed! § ¥ 96t SR T
1. $ae B R D

PAAB AR C

3. Had A ARD

4. Pad A IR E

Options :

485584138541. 1
485584138542.2
485584138543. 3
485584138544. 4

[ f]

collegedunia:



Question Number : 182 Question Id : 48558434637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Identify the correct statements for the Screw threads:

A. A square thread of nominal diameter = 30 mum and Pitch = 6 mm 13 designated as K 30 = 6,
B. Knuckle threads are used on necks of glass bottles.

C. Square threads offers less frictional resistance.

D. The angle between flanks of metric thread 1s 55°.

E. The flanks of B.S.W. thread are equally rounded at both crest and root.

Choose the correct answer from the options given below:

1. A B and C only

[ ]

.B.C and D only
3.C,Dand E only

4. B, C and E only

Options :

485584138545. 1
485584138546. 2
485584138547. 3
485584138548. 4

Question Number : 182 Question Id : 48558434637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:
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Options :

485584138545. 1
485584138546. 2
485584138547.3
485584138548. 4

[ ]
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Question Number : 183 Question Id : 48558434638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Identify the correct statements for Stud:

A Stud 15 a permanent fastener.
B. A stud is a cylindrical rod, having threads on both ends.

C. It has mternal thread.

D. It is always used with cotter.

E. It 15 used where there 15 no place for the bolt head.

Choose the correct answer from the options given below:

1. A and E only
2.B and E only
3.D and E only

4. B and D only

Options :

485584138549. 1
485584138550. 2
485584138551.3

gcollegedunia;

-



485584138552. 4

Question Number : 183 Question Id : 48558434638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
ws & o "gt dUl B IgaH B

A WS TP JTS BT &

B. %S UP §0IPR 83 ¢ | o 3+ R RISl 8

C. $HP U 3id: T3 g |

D. T8 SERI Sicx & 91y 39 &y wiar g

E. SOPT 3UUN] 9l [l 91d & Oigl diec & o8 o 00 g T el gidTl

- fou faeed! # 9 |et SR T
1. Had A ARE

BB HRE

3.%a9 D JRE

4, BB IR D

Options :

485584138549. 1
485584138550. 2
485584138551.3
485584138552. 4

[

Question Number : 184 Question Id : 48558434639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



Identify the correct statements for a Gib and Cotter joint:

A. The Gib has the same thickness as that of the Cotter.
B. Two cotters are used in this joint.

C. Cotter 13 made of plastic.

D. Cotter is used in conjunction with Gib.

E. Rods are of circular shape in this joint.

Choose the correct answer from the options given below:
1. Aand B only
2. Aand C only
3. Aand D only

4.D and E only

Options :

4855841385531
485584138554.2
485584138555. 3
485584138556. 4

Question Number : 184 Question Id : 48558434639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e IR e WIS & fou Fet FuHl B ugdH o

A T ot Aierg, Sl @1 Hies & 9 el ¢
B. 5 WIS U gl ®icxl &1 39a far a8
C, PR WIed BT 1 il 5

D. PTeX 139G f71E & 1Y fpar srar g1

E. 3O uIe § ¥ MaeR gd g1

i o faeed! 9 |t Sox 7.
1. Pae A R B

HAAAIRC

3. Had A ARD

4. 999D R E

Options :

485584138553. 1
485584138554.2
485584138555. 3
485584138556. 4

(o)

collegedunia:



Question Number : 185 Question Id : 48558434640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List T with List IT
LISTI LISTII

A [lsometric projection

|Angle between two principal
planes 15 90°.

A1l the angles between principal

B. [Dimetric projection II. |axes are unequal and not less than
00°.
ol T S I A1l the angles between principal

axes are equal.

I |Orthographic projection

. [Only two angles between three

principal axes are equal.

Choose the correct answer from the options given below:

1. A-TIL. B-IV, C-I1, D-1

[

AL B-IL C-IT, D-IV
3. A-IL B-III, C-IV. D-1
4. ATV, B-1II. C-III, D-1

Options :

485584138557. 1
485584138558.2
485584138559. 3
485584138560. 4

Question Number : 185 Question Id : 48558434640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

-

s collegedunia:
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1. A-IIT, B-IV. C-I1, D-I

[ S

CA-L B-I1. C-II1. D-IV

3. A-IL B-1I0, C-IV, D-I

4. A-IV. B-I1, C-1I1, D-1

Options :

485584138557. 1
485584138558. 2
485584138559. 3
485584138560. 4

Question Number : 186 Question Id : 48558434641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Qcollegedunia;

-



Match List I with List IT on the basis of the given figure.

LISTI LISTII
A |Bottom Solid. 1. |Vertical
B. [Top solid. II. [Horizontal
. JAsas of top solid. II1. [Equalateral Triangular Prism
D |Axis of bottom solid. IV [Circular slab

Choose the correct answer from the options given below:

1. AL B-IIL C-1L D-IV

[ ]

CACIL B-IL C-IV, D-I
3. A-1. B-II. C-III. D-IV

4. A-IV. B-IIIL C-11. D-I

Options :

485584138561. 1
485584138562.2
485584138563. 3
485584138564. 4

Question Number : 186 Question Id : 48558434641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

collegedunia:
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1. A-III. B-II. C-1. D-IV

| ]

3. AL B-IIL C-IIIL. D-IV

4. ATV, B-III, C-I1, D-I

Options :

485584138561. 1
485584138562. 2
485584138563. 3
485584138564. 4

CA-ITL BAIIL G-IV, D-I

Question Number : 187 Question Id : 48558434642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

gcollegeduniag

-



Match List I with List IT

LISt cd b
Hexagonal headed bolt ;

= diameter)
A |Thickness of Head T d
B. |Threaded length of shank 1L 0.8d

Fadius of arc showing conventional end of .

& the shank m its front ;iew L 2a:H4
D. |Width across the flats of head IV 1.5d+3

Choose the correct answer from the options given below:

1. A-IL, B-IIL. C-1. D-IV

2. A-L. B-IL. C-111. D-IV

[}

3. A-IL B-IV, C-I1. D-1

4. A-IV, B-1. C-II. D-III

Options :

485584138565. 1
485584138566. 2
485584138567. 3
485584138568. 4

Question Number : 187 Question Id : 48558434642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
el 191 941 11 ¥ fHeH Sifey

T = I
eI 22T dee raeﬂ?*'lﬁmam

A R aldrRR I d
B. [ &l doicR ddly il 0.8d
C[omEem gl s e au @l e |IL] 2446
D. |68 & &l gurel & fad i disy V.| 1.5d+3
FafaRad Gl 8 3 T8 SR &1 994 S

1. A-TL. B-1II. C-I. D-IV

2. AL B-IIL C-IIIL D-IV

L]

AL B-IV, C-1I1L, D-I

4. ATV, B-I, C-II. D-III

Options :

-

s collegedunia:



485584138565. 1
485584138566. 2
485584138567. 3
485584138568. 4

Question Number : 188 Question Id : 48558434643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Match List I with List IT

LISTI LISTII
A |IB.SW. Thread I. |Semicircles on opposite side
B. PMetric External Thread | I1. [Both crest and root are flat
C. |Square Thread 1. [Rounded equally at root and crest
D. [Knuckle Thread IV |Crest flat and root rounded

Choose the correct answer from the options given below:

1. A-I B-II. C-III, D-IV

[ ]

CA-TV. BAIILL €A1 D-I1

CACIL B-IV, CAII, D-1

L%

4. AL B-1IIL C-1. D-IV

Options :

485584138569. 1
485584138570. 2
485584138571.3
485584138572. 4

Question Number : 188 Question Id : 48558434643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

s collegedunia:

-



! 11 G 11 ¥ HeH Sifo

T 1 T I
Fiuussy g8l | L [[Iwid iG3n & UgaiaR g
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GHR T2 1L [thee UG ¢ gl M o
[Fapa 9=t IV, [z gUic quI e M e

] ol vl Iy

afefad faeedl & O T8l SR &1 909 S

L. A-I. B-IL. C-IIL. D-IV

| ]

CA-TV, B-TII, C-1, D-II
3. AL B-IV, C-I1, D-1

4. A-IT, B-III, -1 D-IV

Options :

485584138569. 1
485584138570. 2
485584138571. 3
485584138572. 4

Question Number : 189 Question Id : 48558434644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Qcollegedunia;

-



Match List I with List IT

LISTI
{Conventional representation
of V- thread)

LISTIT

(Orthographic View)

[External V-thread in the

front view

A front view L

B. I‘f_rterz?_al V-thread in the L
side view

c E_xt&rgal V-thread in the 101 PO n “"‘S""‘ L
side view

D. Internal V-thread in the v

Choose the correct answer from the options given below:

1. A-L. B-IIL C-1I. D-IV
2. A-IL B-IV, C-1, D-II
3. A-IL. B-I, C-IV, D-III

4. A-TV, B-II. C-III, D-1I

Options :

485584138573. 1
485584138574. 2
485584138575.3
485584138576. 4

Question Number : 189 Question Id : 48558434644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:
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L. A-I. B-II. C-II. D-IV
2. AL B-IV. C-1, D-II
3. A-IL B-L C-IV, D-IIT
4. A-IV, B-II. C-II1, D-I

Options :

485584138573. 1
485584138574.2
485584138575.3
485584138576. 4

Question Number : 190 Question Id : 48558434645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

gcollegeduniag

-



Match List I with List IT

LIST1I LIST IT
A |Turnbuckle Joint 1. Journal Bearing
B. [Flang= Joint II. |Square Rod Joint
C. |Bush Bearing III. JPipe Joint
D |Gib and Cotter Joint IV |Tie-rod Joint

Choose the correct answer from the options given below:

1. A-IV. B-III, C-I, D-II

[ )

CA-L B-ILL CHIIIL D-IV

CA-IL B-IIIL C-IV, D-I

L)

4. AL B-II. C-IV, D-1

Options :

485584138577. 1
485584138578. 2
485584138579. 3
485584138580. 4

Question Number : 190 Question Id : 48558434645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
! 11 G 11 ¥ HeH Sifo
T 1 = I
A ledgamd s | L [oHd [99RT
B. [Rid SIS 1L [qT1HR B3] H1 518
C. gz fsmiy [L[Ur5Y &g
D. [F18 R Bk Wig [[VER-IE B g

LT

fafefad faea § O 98l SR &1 98 ST

L. A-IV, B-III, C-I. D-II
2. A-L B-II C-III, D-IV
3. A-IT, B-II1L, C-IV, D-I
4. A-IIL B-II, C-IV, D-I

Options :

485584138577. 1
485584138578.2
485584138579. 3
485584138580. 4

s collegedunia:

-



Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
4855842534
No

null

Question Number : 191 Question Id : 48558434646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl

Read the passage and answer the following question.

150

Rohan during his industrial visit saw a storage tank which 1s a combination of different solids he had studied
m his class. For preparing his industrial visit report, he clicked pictures and measured dimensions of the tank
and other machine parts in the industry. One such picture from his report i1s shown here (dunensions given are
i meters). [gnore the thickness, stands, opening and other branches of the tank and answer the following

questions.

The storage tank 1s the combination of
1. two spheres and one cylinder
2. two hemispheres and one cylinder
3. one hemisphere and one cylinder

4. two cones and one cylinder

Options :

485584138581. 1
485584138582.2
485584138583. 3
485584138584. 4

Question Number : 191 Question Id : 48558434646 Question Type : MCQ Option Shuffling : No ™~ - ~~i~= M~=dndnee-

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Compl
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AW HieX 1 ) | £H1 B Hick, o, AT iR 31 2arsl &1 Bie® A W4l & St o

SR EBl &1 Yo 5|
1. 3T SR U ded
2. 31 S SR U de
3. T ST 3R U ae
4. G 2P R IS g

Options :

485584138581. 1
485584138582.2
485584138583. 3
485584138584. 4

Question Number : 192 Question Id : 48558434647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Qcollegeduniag

-



Read the passage and answer the following question.

Rohan during his industrial visit saw a storage tank which is a combination of different solids he had studied
i his class. For preparing his industrial visit report, he clicked pictures and measured dimensions of the tank
and other machine parts in the industry. One such picture from his report 1s shown here (dunensions given are
in meters). Ignore the thickness. stands, opening and other branches of the tank and answer the following

questions.

The axial length of the cylindrical central portion in its isometric projection will be reduced to

(approximately).

1. 88 meter

[ ]

. 110 meter
3. 55 meter

4, 44 meter

Options :

485584138585. 1
485584138586.2
485584138587.3
485584138588. 4

Question Number : 192 Question Id : 48558434647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl

collegedunia:
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1. 88 Hicx
2. 110 Hiex
3. 55 HIeR
4. 44 Hiex

Options :

485584138585. 1
485584138586. 2
485584138587. 3
485584138588. 4

Question Number : 193 Question Id : 48558434648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

&collegeduniaé
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Read the passage and answer the following question.

150

Rohan during his industrial visit saw a storage tank which is a combination of different solids he had studied
m his class. For preparing his industrial visit report, he clicked pictures and measured dimensions of the tank
and other machine parts in the industry. One such picture from his report 1s shown here (dunensions given are
in meters). Ignore the thickness, stands, opening and other branches of the tank and answer the following

questions.

In the side view of the tanls, the diameter of the cirele 13
1. 20 meter
2. 75 meter
3. 40 meter

4, 55 meter

Options :

485584138589. 1
485584138590. 2
485584138591. 3
485584138592. 4

Question Number : 193 Question Id : 48558434648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

collegedunia:
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T 3OHT DA H U1 Y11 ST e IrT S RUIC dOR o3 & U, 38 e @id! 3R I §
P! 3R 37 =M T & ST 1 9197 | 39 Ruie 31 U1 8] U9 a9k J81 [a@ls s & ((GU Y
I Hiex d 8) | €31 3] AlcTs, ¥8. i1 3R o1 Irarsfi 1 sisd: e wedl & S |

ol & U g J 9u ST O gl
1. 20 Hiex
2. 751}
3. 40 HIeR
4,55 Hlex

Options :

485584138589. 1
485584138590. 2
485584138591. 3
485584138592. 4

Question Number : 194 Question Id : 48558434649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

&collegedunia;
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Read the passage and answer the following question.

150

Rohan during his industrial visit saw a storage tank which is a combination of different solids he had studied
m his class. For preparing his industrial visit report, he clicked pictures and measured dimensions of the tank
and other machine parts in the industry. One such picture from his report 1s shown here (dunensions given are
in meters). Ignore the thickness, stands, opening and other branches of the tank and answer the following
questions.

Accordmg to the shown picture. choose a statement regarding the axis of the tank. which 1z not possible at all.

1. it 1s parallel to V.P.

[ ]

. it 13 parallel to H.P.

L

. it 13 perpendicular to V.P.

i

. it 13 perpendicular to H.P.

Options :

485584138593. 1
485584138594. 2
485584138595. 3
485584138596. 4

Question Number : 194 Question Id : 48558434649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

collegedunia:
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Options :

485584138593. 1
485584138594. 2
485584138595. 3
485584138596. 4

Question Number : 195 Question Id : 48558434650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Read the passage and answer the following question.

150

Rohan during his industrial visit saw a storage tank which is a combination of different solids he had studied
m his class. For preparing his industrial visit report, he clicked pictures and measured dimensions of the tank
and other machine parts in the industry. One such picture from his report 1s shown here (dunensions given are
in meters). Ignore the thickness, stands, opening and other branches of the tank and answer the following

questions.

The 2D figure required for drawing isometric projection of this tank 13
1. Ellipse
2. Pentagon
3. Hexagon

4, Triangle

Options :

485584138597. 1
485584138598. 2
485584138599. 3
485584138600. 4

Question Number : 195 Question Id : 48558434650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

collegedunia:
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mm&%wmﬁ@méﬁ(storagetank)m@%&mm@@@m%ﬁ%
T 3OHT DA H U1 Y11 ST e IrT S RUIC dOR o3 & U, 38 e @id! 3R I §
P! 3R 37 =M T & ST 1 9197 | 39 Ruie 31 U1 8] U9 a9k J81 [a@ls s & ((GU Y
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<9 <ol & JHURHTOT Yarqul i FRIfEd S & e siaws &f siard! o gl
1. gefgd
2. JEYs
3. NE3s
4. By

Options :

485584138597. 1
485584138598. 2
485584138599. 3
485584138600. 4

Sub-Section Number : 3
Sub-Section Id : 4855842535
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 196 Question Id : 48558434651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

&collegeduniaé

-



The given figure shows the disassembled patt of a Flange Pipe Joint. Answer the following question based on
this drawing:

4HOLES @ 120N 108
P.C.D.ATEQUAL ANGLES
20 4 12 129 20
|

v

{1) FLANGE C.1.- 10FF] E=2 9 2 3

T PZZ ////f)y///; E_

@62
@50
@paz
@hos
]

o 2R N R
|
vy
" Y
(6) HEX. NUT [3) GASKET {4) S HEADED BOLT
M.5.-4 OFF INDIAN RUBBER - 1 OFF M.S.— 4 OFF

DETAILS OF A FLANGE PIPE JOINT

1s the nner diameter of the Pipe from which liquud / gas has to flow.

1. 62 mm

[

.90 mm
3. 74 mm

4, 80 mm

Options :

485584138601. 1
485584138602. 2
485584138603. 3
485584138604. 4

Question Number : 196 Question Id : 48558434651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

collegedunia:
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AHOLES@ 120N 108

{1)FLANGE ©.I-10FF

i TR

(S} HEX. NUT (3) GASKET

RC.OATEQUAL ANGLES

@hos

{2} FLANGE C.|-10FF

Mg

M.5.-4 OFF IMDIAN RUBBER - 1 OFF

DETAILS OF A FLANGE PIPE JOINT

U1gY PT Aidier o g, forgs ¥ Ra/ T varfed gidi 2|

1. 62 fa L
2. 00 L.
3. 74T 4L
4. o fHt

Options :

485584138601. 1
485584138602. 2
485584138603. 3
485584138604. 4

0
.42 _|a

{4) S@ HEADED BOLT
.S~ 4 OFF

Question Number : 197 Question Id : 48558434652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp?2

collegedunia:



The given figure shows the disassembled patt of a Flange Pipe Joint. Answer the following question based on
this drawing:

4HOLES@ 120N 106
PC.DATEQUAL ANGLES
20 4 12 129 20
]
7 N
(yFLANGE ca-1ore] L1 L 8 (2)FLANGE C.1.+10FF
R . AN T
| |
of « @l alo | S o S QL
— 88— EETHelEE R T S
| \\\\\p)mwﬂ
| \
L
155 G5 N 1 ) I 0 T i o 2T
| :
ol |20 ]
' - ff I
(5)HEX. NUT [3) GASKET (4) 5 HEADED BOLT
M.5. -4 OFF INDIAN RUBBER - 1 QFF .S~ 4 QFF

DETAILS OF A FLANGE PIPE JOINT

Choose the correct statement for the Flange:
1. It 15 a projected semicircular rim.
2. It 15 made thinner than pipe-walls.
3. Tt attaches to a shaft.

4. Tt serves to hold the pipe in place.

Options :

485584138605. 1
485584138606. 2
485584138607. 3
485584138608. 4

Question Number : 197 Question Id : 48558434652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

collegedunia:
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AHOLES@120M 108
RC.OATEQUAL ANGLES

‘__

{1)FLANGE ©.I-10FF {2} FLANGE C.|-10FF

[ [
L)
=
=]
TS i | (S L R e |
) Bl 4 |al
(S)HEX. NUT (3 GASKET {4) S@ HEADED BOLT
M.5.-4 OFF IMDIAN RUBBER - 1 OFF M.S~ 4 OFF

DETAILS OF A FLANGE PIPE JOINT

i & RIU e S
1. T8 Us AT fedliareRr KA &1
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Options :

485584138605. 1
485584138606. 2
485584138607. 3
485584138608. 4

Question Number : 198 Question Id : 48558434653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2

collegedunia:



The given figure shows the disassembled patt of a Flange Pipe Joint. Answer the following question based on
this drawing:

4HOLES@ 120N 106
PC.DATEQUAL ANGLES
20 4 12 12 20
|
77 =
{(1}FLANGE ¢J)-10FF 4 —J 1 1= (Z)FLANGE C.1-10FF
R L AN

e
i o FESEIEY | ] 8-
e ) [

= [
=3 SRS S BREl LA s ) _!__3__ S E _____. ,.._.eé_.
— & N 2
: =
[BHEX. NUT {3} GASKET 4) 52 HEADED BOLT
M.5. -4 OFF INDIAN RUBBER - 1 OFF n.S.— 4 GFF

DETAILS OF A FLANGE PIPE JOINT

External diameter of the rubber Gasket 1s:

1. 132 mm

[ O]

.62 mm
3. 74 mm

4,90 mm

Options :

485584138609. 1
485584138610. 2
485584138611. 3
485584138612. 4

Question Number : 198 Question Id : 48558434653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

collegedunia:
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{1)FLANGE ©.I-10FF

L 2 {2} FLANGE C.|-10FF
R3

@hos

el g (=
: - PR - S—
(S)HEX. NUT (3 GASKET {4) S@ HEADED BOLT
M.5.-4 OFF IMDIAN RUBBER - 1 OFF M.S~ 4 OFF

DETAILS OF A FLANGE PIPE JOINT

3ge Tafde &7 el Iy 2|
1. 132 fasL
2. 62 o,
3. 74T 4L
4. 00 fiy 4l

Options :

485584138609. 1
485584138610. 2
485584138611. 3
485584138612. 4

Question Number : 199 Question Id : 48558434654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2

collegedunia:



The given figure shows the disassembled patt of a Flange Pipe Joint. Answer the following question based on
this drawing:

4HOLES @ 120N 108
P.C.D.ATEQUAL ANGLES
20 4 12 129 20
|

v

{1) FLANGE C.1.- 10FF] E=2 9 2 3

T PZZ ////f)y///; E_

@62
@50
@paz
@hos
]

o 2R N R
|
vy
" Y
(6) HEX. NUT [3) GASKET {4) S HEADED BOLT
M.5.-4 OFF INDIAN RUBBER - 1 OFF M.S.— 4 OFF

DETAILS OF A FLANGE PIPE JOINT

C.I. stands for :

1. Closed Interior

[ O]

. Crest Index
3. Cast Iron

4, Counter Iron

Options :

485584138613. 1
485584138614. 2
485584138615. 3
485584138616. 4

Question Number : 199 Question Id : 48558434654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

collegedunia:
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AHOLES@ 120N 106
RC.OATEQUAL ANGLES

{1)FLANGE ©.I-10FF

L 2 {2} FLANGE C.|-10FF
R3

@hos

el =

L 42 __nl
(S)HEX. NUT (3 GASKET {4) S@ HEADED BOLT
M.5.-4 OFF IMDIAN RUBBER - 1 OFF M.S~ 4 OFF

DETAILS OF A FLANGE PIPE JOINT

C.I P10l 4oy

1. Closed Interior

[

. Crest Index
3. Cast Iron

4, Counter Iron

Options :

485584138613. 1
485584138614.2
485584138615. 3
485584138616. 4
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The given figure shows the disassembled patt of a Flange Pipe Joint. Answer the following question based on
this drawing:
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DETAILS OF A FLANGE PIPE JOINT

The thickness of pipe walls can be increased when
1. pressure 1s low
2. pressure is high
3. length of pipe has to be increased

4. length of pipe has to be decreased
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